1

.25 DIA
A DIA

D MIN

THREAD DEPTH

THREAD PER ASME B1.1
FOR OPTIONAL TRIMMED

L +.030 |~—

»
N
v
7
G
¢

3

OPTIONAL PRIMER
THIS SURFACE.

DISPOSABLE PRESSURE SENSITIV

E

ADHESIVE FIXTURE HOLDS STANDOFF

WHILE ADHESIVE CURES.

BASE ADD 750 SUFFIX 100 MAX
TO PART NUMBER. 020 MIN
STANDOFF ATTACHED
BY ADHESIVE APPLIED
TO THIS SURFACE.
LENGTH L DATA (LENGTH CODE IN SIXTEENTHS OF AN INCH)
CDE[ 5 [ 6 [ 7 [ 89 1o 1n]12[13]14][15] 16 [ 17
L [.312].375].437] 500] 562 .625] 687 ] .750] .812] .875].937]1.000] 1.062
D MN| 156 |.187 250 375
BASEPLATE_ MATERIAL AND_FINISH THREAD AND DIMENSION DATA
CODE [ MATERIAL FINISH CODE [ THREAD SIZE A MAX
AX_| ALUMINUM NONE 440 |.112-40 UNC-2B| 217
A [ ALUMINUM ANODIZED 632 |.138-32 UNC-2B
CR_[300 SERIES CRES | PASSIVATE 832 |.164-32 UNC-2B | .285
CRM [ 316 CRES PASSIVATE | [1032 |.190-32 UNF-2B
C | CARBON/EPOXY | NONE 1420 [ 25020 UNC-2B | .380
G| GLASS/EPOXY [ NONE
STANDOFF_MATERIAL AND FINISH OPTIONAL BASEPLATE PRIMER
CODE [ MATERIAL FINISH CODE [ PRIMER
AX_| ALUMINUM NONE P_|EPOXY PRIMER
CR 300 SERIES CRES | PASSIVATE
o316 CRES Sacqyae | NOTE: COMPOSITE BASE STANDOFF BASE THICKNESS IS .110 MAX.

EXAMPLE PART NUMBER

CN125-1032-10 AA CR /o0 P

—E OPTIONAL EPOXY PRIMER ON BASEPLATE
OPTIONAL TRIMMED BASE — .750
STANDOFF MATERIAL (IF DIFFERENT) — 300 SERIES CRES
BASEPLATE MATERIAL — ALUMINUM, ANODIZED
STANDOFF LENGTH L — .625

THREAD SIZE — .190-32 UNF-2B

BASIC PART NUMBER

e Lt T P o S| | S CARSON CITY

Y14.5M-1982. gumuwgnllszzg Pgémgr% mgggn DISTRIBUTION OF THIS IEED—,I:I@I:KK @W@ NEVADA 89706
CAD CN125-1 HePROVAS o me

ANGLES i [ DAC eavis | STANDOFF, ADHESIVE BONDED

XX +.03 | cHecx IDOCM%“ 16MAY13 SIZE CAGE CODE DWG. NoO. REV.

XXX +.010 [ JBCHT =  16MAY13 A 66530 CI\H 25 1 3

XXXX +.001 [rms2 DAC 16MAY13 s 1/1 | 16MAY13 EEE




31,8 DIA

A DIA D MIN

THREAD DEPTH

L %0,

—]

L
—

THREAD PER ASME B1.13M

DISPOSABLE PRESSURE SENSITIVE

ADHESIVE FIXTURE HOLDS STANDOFF
8 |~— WHILE ADHESIVE CURES.
OPTIONAL PRIMER
THIS SURFACE.

FOR OPTIONAL TRIMMED <
191 -]  BASE ADD 19 SUFFIX j‘ 2,6 MAX
! TO PART NUMBER. 05 MIN
STANDOFF_ATTACHED
BY ADHESIVE APPLIED
TO THIS SURFACE.
LENGTH L DATA (LENGTH CODE IN_ MILLIMETERS)
CODE | 8M [ 10M [ 12M ] 14M [ T6M | 18M ] 20M | 22M ] 25M
L [ 8 [0 |12 14 161820222
DMN 40 [50] 65 95
BASEPLATE MATERIAL AND FINISH THREAD AND DIMENSION DATA
CODE | MATERIAL FINISH CODE [ THREAD SIZE | A MAX
AX__| ALUMINW NONE 3M_[M3 X 05 6H| 4,35
A ALUMINN ANODIZED W [Mex 07 6H]
CR | 300 SERIES CRES [PASSVATE | | 5M [M5 X 0,8 6H| "
CRM | 316 CRES PASSIVATE | | 6M | M6 X 1,0 6H | 9,65
C_|CARBON/EPOXY | NONE
G_|GLASS/EPOXY | NONE
STANDOFF MATERIAL AND FINISH OPTIONAL BASEPLATE PRIMER
CODE | MATERIAL FINISH CODE | PRIMER
AX__| ALUMINW NONE P_|EPOXY PRIMER
CR | 300 SERIES CRES | PASSIVATE
316 GRES Sacare|  NOTE: COMPOSITE BASE STANDOFF BASE THICKNESS IS 28 MAX.
EXAMPLE PART NUMBER
L gprona epoxy RiER on easerLATE
OPTIONAL TRIMMED BASE — 19,1 mm
STANDOFF MATERIAL (IF DIFFERENT) ~ 300 SERIES CRES
BASEPLATE MATERIAL — ALUMINUM, ANODIZED
STANDOFF LENGTH L - 14 mm
THREAD SIZE ~ M5 X 0,8 6H
BASIC PART NUMBER
T e | Pt VRl I O | 2" CARSON CITY
Bl O L (it ey e v | (D] LS [T \éyapa 9706
CAD CN125-2 wmows b ms
verric omensions [ DAC | tevaris | STANDOFF, ADHESIVE BONDED
ANGLES :I:‘l' CHECKED 4)0( 2 n 16MAY‘|3 SZE CAGE CODE DWG. NO. REV.
X w08 [==gacdi= owans | A | 66530 | CN125 (METRIC) |13
XX £0,25 [== DAC T6MAY1S [ 1/1 | T6MAYI3 [*= 2 @ 3




